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Match-Ups

What occurs once in a minute, twice in a moment, but never in a thousand
years? The letter M.

Match each equation in the column on the left with the answer

from the column on the right. L]

1. la. 15+2 = C A =13
b. 6+ 14 = B E =22
c. 9+13 = E C =17
d. 4+18 = D B =20
e. 2+11 = A D =22

2. la. 1+2 = B D =20
b. 6+17 = A C =26
c. 19+20 = E B=3
d. 18+2 = D A =23
e. 20+6 = C E =39

3. la. 10+13 = E D=7
b. 10+ 11 = A:::::::::i::::::::::><i:::::E=23
c. 20+ 11 = Be oB = 31
d. 3+4 = D:::::::::::::::::::><::::::C=18
e. 10+8 = C A =21

4. la. 9+4 = C A = 26
b. 12+ 13 = E C =13
c. 13+13 = A D =23
d. 12+ 16 = Be «B = 28
e. 14+9 = Dr///////////’ \\\\\\\\*E=25

S.la. 1+10 = A B =16
b. 13+ 15 = E A =11
c. 4+12 = B D =18
d. 9+2 = Ce e C =11
e. 15+3 = Dr///////////’ \\\\\\\\*E=28
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